e

O gijet / dCh'dijet

0.18

dije

o
~~
—i

Ratio to CMS

0.16

0.14

0.12

0.1

0.08

0.06

0.04

0.02

[EEY

0.5

Rivet 3.1.10, = 2.2M events

7000 GeV pp Jets
T~ T T T T T T | 1 T
— X (jets) (3000 < Mjj) _
- m CMS B
— --O-- Herwig++ 2.7.1 default N
—  --id-- Herwig 7.2.1 default ]
— —— Pythia 8.308 default 7]
—  --¥-- Pythia 8.308 vincia-default _
IS ¢ Sherpa 2.2.9 default _
_ ]

" 1 1 1 1 | " 1 1 1 1 " | " " " 1 " | " 1
0 5 10 15
chi

dijet

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


